
ICS Part 2 Computer Science Online Test

Sr Questions Answers Choice

1 Types of translators are:
A. Compiler
B. Interpreter
C. Assembler
D. All of these

2 Which is used to display yes/no values:
A. Check box
B. Option buttons
C. Both a &amp; b
D. None of these

3 In a relational database a single piece of information is called:
A. Table
B. Record
C. Entity
D. Attribute

4 Object used to retrieve data from database is called:
A. Forms
B. Repons
C. Queries
D. Tables

5 Every relation must have:
A. Primary key
B. Candidate key
C. Secondary key
D. All of these

6 Which key does not have uniqueness property?
A. Candidate
B. Foreign key
C. Primary key
D. Secondary key

7 An attribute is also known as:
A. Table
B. Field
C. Row
D. Relation

8 The functions that are defined by programmer are called:
A. User-defined
B. Subprograms
C. Subroutines
D. Built-in functions

9 Which is a loop statement?
A. If
B. If-else
C. Switch
D. None of these

10 Which loop statement executes the body of loop at least once?
A. do-white
B. While
C. For
D. None of these

11 Which is not a logical operator?
A. ||
B. !
C. !=
D. &amp;&amp;

12 The last statement of each case in switch must be a:
A. Default statement
B. If-else statement
C. Break statement
D. Else statement

13 Which escape sequence can be used to begin a new line in C-language?
A. \a
B. <div>\b</div>
C. <div>\n</div>
D. \n

14 Format specifier is started with:

A. '?

B. &amp;
C. %
D. None

15 The symbol '=' represents:
A. Comparison operator
B. Assignment operator
C. Equal to operator
D. None of these



16 Which data type offers the highest precision?
A. Float
B. Long int
C. Long double
D. Unsigned long int

17 A form that contains the sub-form is called:
A. Form
B. Main form
C. Report
D. None of these


